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-

(3 Hours) [ Total Marks : 100

N.B. (1) Answer any five questions.
(2) All questions carry equal marks. (20 marks).

1. What is Research Design ? Which factors would you consider in evaluating a research 20
“design ?

2, Discuss the suitability of survey method for Library and Information Science Research. 20

3. What are the advantages of sampling in research ? Explain with examples the different 20
random sampling technigues.

4. Explain the concept of ‘Evidence-based Librarianship’ with suitable examples. 20

5. The following opinions were obtained on preferred type of access in different types 20

of libraries :(—
: Type of Access
Type of Library Open Closed
Public 30 12
Academic A 28

Examine the relationship between the type of access and types of library at (-05)
level, using appropriate statistical test.

6. Differentiate between the following giving suitable examples (any two) \— 20
= (a) Quantitative and Qualitative Research
/ (b) Questionnarie and Interview

(c) Content Analysis and Citation Analysis =
(d) Pure and Applied Research.

7. Write short notes on any four of the following :(— 20
o (a) Research Report
: \/ (b) Experimental Research
(c) Bradford's Law -
(d) Plagiarism
- {e) Impact Factor
' (f) Hypothesis.
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